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Choose the correct answer.(5)

1
The antonym of luxury is
a)sadness b)delight c)proportion d)faculty

2 ;
This book is better that.
a)with b)by c)than dto

3
Watching television news is just like:
aJreading newspaper b)fast food )luxury d)having a course dinner

4 ; B
The correct meaning of the word distinct is

a)primarily b)vague c)visual d)obvious
5
The correct synonym of the auditory is
a)visual b)touch c)hearing d)sensory
Choose the correct answer(5)
1
We drive fast; we have plentyof time. Choose the best modal verb.
a)must not b)should nt c)would not d)could not

Ahsan is writing a letter, This is the sentence of.
a)Present indefinitgtchse b)past indefinite tense

c)present continugustense d)past continuous tense

Television news is like having a fact food meal whereas reading neawspaper is like having a
ten course dinner. This sentence is an example of.

a)metaphor b)simile c)personification  d)imagery

Where as reading newspaper is like having a ten course dinner. This sentence is an example of.

a)simile b)imagery c)alliteration d)metaphor

5
They will go to the party if they are invited. What conditional sentence is this.

afirst b)second c)third d)none
Choose the correct Spelling.(5)
1

a)boardcast b)bordcasate ¢)broadcast d)bardocast
2 : 5 ;

a)analysis b)anelisis cJenelises d)anelyse
3

a)cirtain b)ecartain ¢)certain d)certein
4

arelevent b)relevunt crelevant drelevantt
5

a)pronounsed b)prononced c)pronounced d)pronouncd
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